
  The Trailer System

English
1/2018



MayTec System Technology

Solutions with Innovative Profi le

The key to success!

The ideal profi le system
MayTec offers a comprehensive, harmonised 
profi le system. All profi les can be combined 
in any way conceivable.

The accessories provide functional and 
aesthetic solutions for a wide range of 
applications.

Service
The MayTec service is as versatile as the 
MayTec profi le system. 
You may choose: 

• delivery of standard elements ex-factory
• delivery of profi les and accessories cut to  
 size according to parts list for customer’s  
 assembly
• delivery of pre-fi tted modular components
• delivery of completely assembled units
• assembly at your premises

Implementation
The MayTec profi le system is easy to pro-
cess and quick to assemble. Its fl exible and 
modular construction means it can be easily 
modifi ed and is reusable at any time.

An experienced team will support you in 
implementing the MayTec system, tailored 
to your individual applications, taking into 
consideration your dimensions, loading 
capacity and stability.

The Dust Protection SystemSafety Barriers

The Modular Wall System

The Tube Clamping System The Telescopic System

The Skid Transfer SystemThe People Mover System

The Linear System

The Clean-Room System

The Conveyor System

The Profi le System

The Pipe & Joint System



1

Table of contents

Article number group Page

 Pipes and profi les .............................................. 2
(21.11) Steel pipes ................................................................... 2
30.1 Steel pipe square .......................................................... 3
(1.11) Profi les ........................................................................ 4

 Castors, footplates, corner protector ................. 6
(1.45) Castors ........................................................................ 6
30.15 Heavy duty castors ........................................................ 8
(21.15) Footplates for pipes .................................................... 10
30.15 Footplate for square .................................................... 14
30.15 Corner protector ......................................................... 15

 Drawbars and couplings .................................. 16
30.16 Drawbars and couplings .............................................. 16

 Price list ........................................................... 17



2

(21.11)

21.11.110.20.01.40  21.11.110.20.02.40  21.11.110.20.03.40  21.11.110.20.04.40 
21.11.110.20.01.41  21.11.110.20.02.41  21.11.110.20.03.41  21.11.110.20.04.41 
21.11.110.20.01.42  21.11.110.20.02.42  21.11.110.20.03.42  21.11.110.20.04.42 

21.11.110.20.05.40  21.11.110.20.06.40  21.11.110.20.07.40  21.11.110.20.08.40 
21.11.110.20.05.41  21.11.110.20.06.41  21.11.110.20.07.41  21.11.110.20.08.41 
21.11.110.20.05.42  21.11.110.20.06.42  21.11.110.20.07.42  21.11.110.20.08.42 

21.11.110.20.09.40  21.11.110.20.10.40 
21.11.110.20.09.41  21.11.110.20.10.41 
21.11.110.20.09.42  21.11.110.20.10.42 

Ix = Iy = 
Wx = Wy = 
G =

Ix = Iy = 
Wx = Wy = 
G =

Ix = Iy = 
Wx = Wy = 
G =

Steel pipe Ø 28, Steel pipe Ø 28, Steel pipe Ø 28, Steel pipe Ø 28, 
2.0, black 2.0, white 2.0, ivory 2.0, dark grey

Steel pipe Ø 28, Steel pipe Ø 28, Steel pipe Ø 28, Steel pipe Ø 28, 
2.0, light grey 2.0, dark blue 2.0, light blue 2.0, green

Steel pipe Ø 28, Steel pipe Ø 28,   
2.0, red 2.0, yellow  

Steel pipes Ø 28, ABS coated

moment of inertia cm4

moment of resistance cm3

weight kg/m

moment of inertia cm4

moment of resistance cm3

weight kg/m

moment of inertia cm4

moment of resistance cm3

weight kg/m

pipe, 4 m 
packing unit 1 (10 Pcs)
packing unit 2 (100 Pcs)

pipe, 4 m 
packing unit 1 (10 Pcs)
packing unit 2 (100 Pcs)

pipe, 4 m 
packing unit 1 (10 Pcs)
packing unit 2 (100 Pcs)

Description

Description

Description

wall thickness 2.0 mm

wall thickness 2.0 mm

wall thickness 2.0 mm

Cut specifi cations ï Catalogue "The Pipe & Joint System 1/2018", Numerical key for products 21.02

1.1  1.1 
0.8  0.8 
1.1

1.1  1.1 
0.8  0.8 
1.1

1.1  1.1 
0.8  0.8 
1.1



3

Ix = Iy = 
Wx = Wy = 
G =

30.1.04504502.01.60
 

30.1

45

45

2

wall thickness 2.0 mm

 10.6 10.6       
 4.7 4.7 
 2.7

moment of inertia cm4

moment of resistance cm3

weight kg/m

bar, 6 m 
 

Description

Steel pipe square

Steel pipe square    
45×45×2, black



4

(1.11)

Ix = Iy = 
Wx = Wy = 
G =

1.11.040040.43LP.60  1.11.040080.64LP.60    
1.11.040040.43LP.61 (8) 1.11.040080.64LP.61 (4) 

1.11.040040.43SP.60  1.11.040080.64SP.60    
1.11.040040.43SP.61 (8) 1.11.040080.64SP.61 (4) 

Ix = Iy = 
Wx = Wy = 
G =

Ix = Iy = 
Wx = Wy = 
G =

Ix = Iy = 
Wx = Wy = 
G =

Profi le group 40 mm, E3-slot, P (plain)

moment of inertia cm4

moment of resistance cm3

weight kg/m

bar, 6 m 
packing unit (number)

Description

 9.6 9.6 65.4 17.5
 4.7 4.7 16.4 8.8
 1.5  2.5

light

moment of inertia cm4

moment of resistance cm3

weight kg/m

bar, 6 m 
packing unit (number)

Description

heavy

bo
re

 h
ol

e 
Ø

5.
0

fo
r t

hr
ea

d 
M

6

core hole Ø12.0
for thread M14

core hole Ø12.0
for thread M14

bo
re

 h
ol

e 
Ø

5.
0

fo
r t

hr
ea

d 
M

6

 12.0 12.0 82.0 23.4
 6.0 6.0 20.5 11.7
 2.0  3.8

machining data ï Catalogue "The Profi le System 1/2018", Profi le machining 1.1A

Profi le 40×40, Profi le 40×80,   
4E, LP 6E, LP 

Profi le 40×40, Profi le 40×80,   
4E, SP 6E, SP 



5

(1.11)

Ix = Iy = 
Wx = Wy = 
G =

Ix = Iy = 
Wx = Wy = 
G =

1.11.045045.43LP.60  1.11.045090.64LP.60    
1.11.045045.43LP.61 (8) 1.11.045090.64LP.61 (4) 

1.11.045045.43SP.60  1.11.045090.64SP.60    
1.11.045045.43SP.61 (8) 1.11.045090.64SP.61 (4) 

Ix = Iy = 
Wx = Wy = 
G =

Ix = Iy = 
Wx = Wy = 
G =

Profi le group 45 mm, E4-slot, P (plain)

moment of inertia cm4

moment of resistance cm3

weight kg/m

bar, 6 m 
packing unit (number)

Description

light

moment of inertia cm4

moment of resistance cm3

weight kg/m

bar, 6 m 
packing unit (number)

Description

heavy

core hole Ø12.0
for thread M14

core hole Ø12.0
for thread M14

bo
re

 h
ol

e
fo

r t
hr

ea
d 

M
10

machining data ï Catalogue "The Profi le System 1/2018", Profi le machining 1.1A

 13.5 13.5 98.0 27.5
 6.0 6.0 21.8 12.2
 1.9  3.3

 15.5 15.5 126.0 34.0
 6.9 6.9 28.0 15.0
 2.1  4.4

Profi le 45×45, Profi le 45×90,   
4E, LP 6E, LP 

Profi le 45×45, Profi le 45×90,   
4E, SP 6E, SP 



6

(1.45)

s = 10.5 mm

s = 3 mm

d

D
e

a

c b

S

Castors

Fixed castors

Description D a Weight Product No.
Fixed castor with bolt hole Ø100 133 500 g 1.45.11100
Fixed castor with bolt hole, ESD Ø100 133 500 g 1.45.11100E
Fixed castor with bolt hole Ø125 158 900 g 1.45.11125

Fixed castor with fi tting plate Ø100  136 610 g 1.45.12100
Fixed castor with fi tting plate, ESD Ø100  136 610 g 1.45.12100E
Fixed castor with fi tting plate Ø125 161 1,010 g 1.45.12125
Dimensions see table on the right

Technical data 
material: 
• capsule: sheet steel, galvanised
• wheels: solid rubber tyres, grey

Ø100/125 incl. thread protection
max. static load: Fmax 

 Variations

 Castor-Ø 100 mm / 125 mm

Bolt hole type

Fitting plate type

Fixed castor Swivel castor Swivel castor lockable

Castors



7

(1.45)

d

D
e

a

b

c S

d

D
e

a

b

c S

Swivel castors Technical data 
material: 
• capsule: sheet steel, galvanised
• wheels: solid rubber tyres, grey

Ø100/125 incl. thread protection
max. static load: Fmax

Technical data 
material: 
• capsule: sheet steel, galvanised
• wheels: solid rubber tyres, grey

stop fi x: - wheel break
  - swivel break
Ø100/125 incl. thread protection
max. static load: Fmax

Swivel castors lockable

Description D  a Weight Product No.
Swivel castor with bolt hole Ø100 133 680 g 1.45.21100
Swivel castor with bolt hole, ESD Ø100 133 680 g 1.45.21100E
Swivel castor with bolt hole Ø125 158 890 g 1.45.21125

Swivel castor with fi tting plate Ø100 136 780 g 1.45.22100
Swivel castor with fi tting plate, ESD Ø100 136 780 g 1.45.22100E
Swivel castor with fi tting plate Ø125 161 990 g 1.45.22125
Dimensions see table on bottom of page

Description D a Weight Product No.
Swivel castor, lockable with bolt hole Ø100 133 840 g 1.45.31100
Swivel castor, lockable with bolt hole, ESD Ø100 133 840 g 1.45.31100E
Swivel castor, lockable with bolt hole Ø125 158 990 g 1.45.31125

Swivel castor, lockable with fi tting plate Ø100 136 940 g 1.45.32100
Swivel castor, lockable with fi tting plate, ESD Ø100 136 940 g 1.45.32100E
Swivel castor, lockable with fi tting plate Ø125 161 1,090 g 1.45.32125

 Ø100 57 43 2.5 43 Ø57 10.5  Ø12.5 32 800 N

 Ø125 57 43 2.5 43 Ø57 10.5  Ø12.5 32 1,000 N

Castors: Design bolt hole

 Fixed castor Swivel castor
 D b c s b c s d e Fmax

Castors



8

30.15

11

138

11
6

7580

105

11

140

11
0

7580

105

D
50

a

b
c

D
50

a

b

c

Fixed castor Swivel castor Swivel castor lockable

Fixed castor

Swivel castor

Heavy duty castors

Castors

Description D a b c Weight Product No.
Fixed castor with fi tting plate Ø160 195 138 116 1,900 g 30.15.10.160

Description D a b c Weight Product No.
Swivel castor with fi tting plate Ø160 195 140 110 2,600 g 30.15.11.160

Technical data  
material: 
• capsule: sheet steel, galvanised
• wheels: solid rubber tyres, in smooth   
  rolling quality black

max. static load: Fmax = 4.000 N 

Technical data  
material: 
• capsule: sheet steel, galvanised
• wheels: solid rubber tyres, in smooth   
  rolling quality black

max. static load: Fmax = 4.000 N 

 Variations

 Castor Fixed castor Swivel castor

Fitting plate type



9

30.15

D
50

a

b

c

Swivel castor lockable

Castors

Description D a b c Weight Product No.
Swivel castor, lockable w. fi tting plate Ø160 195 140 110 3,100 g 30.15.12.160

Technical data  
material: 
• capsule: sheet steel, galvanised
• wheels: solid rubber tyres, in smooth   
  rolling quality black

stop fi x: - wheel break
  - swivel break

max. static load: Fmax = 4.000 N 



10

(21.15)

16
6

166

80
105

6080

10

10

10
4

o16
6126

M10

Description    Weight Product No.
Footplate, corner left    1,873 g 21.15.20.L

Footplates for pipes
corner left

Technical data 
material: steel, black

Fastening elements

Description Weight Product No.
Set screw M10×12, with cupped gripping point, black 4.0 g 0.63.0916.10012.1 
4 pcs. per footplate required

Description Weight Product No.
Mounting set for castors 16.8 g 30.15.S1
4 sets per castor required

Single parts of the mounting set

Description Pcs. Weight Product No.
Socket head cap screw DIN 6912, M8×20 1 10.0 g 0.63.D06912.08020 
Washer DIN 433 - 8.4 1 1.3 g 0.62.D00433.08,4
Self locking washers, M8 1 1.5 g 0.62.D2520108 
Hexagonal nut DIN 934 - M8 1 4.0 g 0.61.D00934.08

Footplates



11

(21.15)

o16
6

10
4

126

M10

16
6

166

80
105

6080

10

10
Description    Weight Product No.
Footplate, corner right    1,873 g 21.15.20.R

Footplates

Technical data 
material: steel, black

Fastening elements

Description Weight Product No.
Set screw M10×12, with cupped gripping point, black 4.0 g 0.63.0916.10012.1 
4 pcs. per footplate required

Description Weight Product No.
Mounting set for castors 16.8 g 30.15.S1
4 sets per castor required

Single parts of the mounting set

Description Pcs. Weight Product No.
Socket head cap screw DIN 6912, M8×20 1 10.0 g 0.63.D06912.08020 
Washer DIN 433 - 8.4 1 1.3 g 0.62.D00433.08,4
Self locking washers, M8 1 1.5 g 0.62.D2520108 
Hexagonal nut DIN 934 - M8 1 4.0 g 0.61.D00934.08

Footplates for pipes
corner right



12

(21.15)

126o166

M10

16
6

166

80
105

6080 10
Description    Weight Product No.
Footplate, center    1,305 g 21.15.20.MH

Footplates for pipes
center

Technical data 
material: steel, black

Footplates

Fastening elements

Description Weight Product No.
Set screw M10×12, with cupped gripping point, black 4.0 g 0.63.0916.10012.1 
4 pcs. per footplate required

Description Weight Product No.
Mounting set for castors 16.8 g 30.15.S1
4 sets per castor required

Single parts of the mounting set

Description Pcs. Weight Product No.
Socket head cap screw DIN 6912, M8×20 1 10.0 g 0.63.D06912.08020 
Washer DIN 433 - 8.4 1 1.3 g 0.62.D00433.08,4
Self locking washers, M8 1 1.5 g 0.62.D2520108 
Hexagonal nut DIN 934 - M8 1 4.0 g 0.61.D00934.08



13

(21.15)

126o166

10
4

M10

16
6

166

80
105

6080 10

Technical data 
material: steel, black

Description    Weight Product No.
Footplate, center with post    1,766 g 21.15.20.MHV

Footplates for pipes
center with post

Footplates

Fastening elements

Description Weight Product No.
Set screw M10×12, with cupped gripping point, black 4.0 g 0.63.0916.10012.1 
6 pcs. per footplate required

Description Weight Product No.
Mounting set for castors 16.8 g 30.15.S1
4 sets per castor required

Single parts of the mounting set

Description Pcs. Weight Product No.
Socket head cap screw DIN 6912, M8×20 1 10.0 g 0.63.D06912.08020 
Washer DIN 433 - 8.4 1 1.3 g 0.62.D00433.08,4
Self locking washers, M8 1 1.5 g 0.62.D2520108 
Hexagonal nut DIN 934 - M8 1 4.0 g 0.61.D00934.08



14

30.15

61

51

80

80

105

10
5 51

61

60

80

60

80

10
4

o4
5

o188

4

Ø10

Footplate for square

Technical data
material: steel
surface: black, powder-coated

Description Weight Product No.
Footplate for square 45, corner 2,180 g 30.15.20

Application
for
• steel pipe square 45×45
• profi le 45×45 

Fastening elements

Description Weight Product No.
Set screw M10×12, with cupped gripping point, black 4.0 g 0.63.0916.10012.1 
1 pcs. per footplate required

Description Weight Product No.
Mounting set for castors 16.8 g 30.15.S1
4 sets per castor required

Single parts of the mounting set

Description Pcs. Weight Product No.
Socket head cap screw DIN 6912, M8×20 1 10.0 g 0.63.D06912.08020 
Washer DIN 433 - 8.4 1 1.3 g 0.62.D00433.08,4
Self locking washers, M8 1 1.5 g 0.62.D2520108 
Hexagonal nut DIN 934 - M8 1 4.0 g 0.61.D00934.08

Description Weight Product No.
Mounting set for footplate with 45 mm square 39.0 g 30.15.S2
4 sets per footplate required

Single parts of the mounting set

Description Pcs. Weight Product No.
Hexagonal screw DIN 931, M8×70 1 31.0 g 0.63.D00931.08070 
Washer DIN 125 - 8.4 2 1.6 g 0.62.D00125.A08,4
Hexagonal nut DIN 985 - M8, self-locking 1 4.8 g 0.61.D00985.08

Footplates



15

30.15

140

5

80

140

20

20

24

40

Corner protector

Description Weight Product No.
Corner protector 950 g 30.15.30

Technical data
material: steel
surface: galvanised

Corner protector

countersink
DIN 74 - Bm8



16

30.16

a

81

619

a

81

619

a

Drawbars and couplings

Description a Weight Product No.
Drawbar 40, with fi xed eyelet 40 11.0 kg 30.16.10.40
Drawbar 45, with fi xed eyelet 45 11.0 kg 30.16.10.45

Description a Weight Product No.
Drawbar 40, with swivel eyelet 40 11.0 kg 30.16.11.40
Drawbar 45, with swivel eyelet 45 11.0 kg 30.16.11.45

Description a Weight Product No.
Coupling 40 40 5.76 kg 30.16.20.40
Coupling 45 45 5.76 kg 30.16.20.45

Technical data
material: steel
surface: galvanised

Technical data
material: steel
surface: galvanised

Technical data
material: steel
surface: galvanised

Drawbars with fi xed eyelet

Couplings

Drawbars with swivel eyelet

Drawbars and couplings



17

1 October 2018Price List  - EUR

Prices for profi le machining

    Saw cut for pipes 1,50

    Saw cut for profi les
 59 , Catalogue 'The Profi le System' Saw cut, price group 1 (A-E) 1,50
 59 , Catalogue 'The Profi le System' Saw cut, price group 2 (F-K) 2,30
 59 , Catalogue 'The Profi le System' Saw cut, price group 3 (L-P) 3,00

    Surcharge for scrap:  10 %

Page  Description 1 Piece 

    €/Piece 

Order comments
• Defi nition of quantities

 Product No.

 ää.ää.äää.ää.ää.40 = 1 pipe       
 ää.ää.äää.ää.ää.41 = PU 1 = 1 PU (packing unit) of 10 pipes
 ää.ää.äää.ää.ää.42 = PU 2 = 1 PU of 100 pipes

 ä.ää.ääääää.ääää.60 = 1 bar
 ä.ää.ääääää.ääää.61 = 1 PU (Packing Unit)

 ää.ää.äää.ää.ää.99 = 1 PU of 100 pieces

 ää.ää.äää.ää.ää = 1 Piece
 ää.ää.äää.ää.ää.P1 = PU 1 = 1 PU of 10 pieces
 ää.ää.äää.ää.ää.P2 = PU 2 = 1 PU of 100 pieces
 ää.ää.äää.ää.ää.P3 = PU 3 = 1 PU of 1.000 pieces

• Price for cut to length = price (€/m) of bar + price of profi le machining for saw cut + surcharge for scrap

Commercial Terms and Conditions

Prices: • All prices are valid in EUR.
 • Prices do not include freight and packing.
 • Sales Tax. if payable, will be charged at the applicable rate.
 • Unless otherwise sPUcifi ed, all prices listed are for one item.

Payment: • 2 % discount if paid within 14 days. All balances are due within 30 days of invoice.
 • F.O.B. Shipping Point.

Minimum Order: • A surcharge of EUR 15,00 will apply to all orders less than EUR 150,00.

Restocking Fee: • In case of returned goods, a 20 % restocking fee will be charged with a minimum fee EUR 25,00.

Price Validity: • This price list replaces all previous price lists. Error and price change are excepted.

Conditions: • Subject to the ‘General Terms and Conditions of Sale’ available on request.



18

Price List  - EUR 1 October 2018

Page Product No. Description    PU PU 3

  Piece  1 100 1.000
    €/Piece €/PU  €/PU

Page Product No. Description    PU PU 3

  Piece  1 100 1.000
    €/Piece €/PU  €/PU

 without additional indication = 1 piece / .99 = PU with 100 pieces / .P3 = PU 3 with 1.000 pieces

 without additional indication = 1 piece / .99 = PU with 100 pieces / .P3 = PU 3 with 1.000 pieces

 0.6x.xx Srews and nuts   

 10 0.61.D00934.08 Hexagonal nut DIN 934 - M8  0,18 16,06 144,00
 14 0.61.D00985.08 Hexagonal nut DIN 985 - M8, self-locking  0,18 16,06 144,00
 14 0.62.D00125.A08,4 Washer DIN 125 - 8.4  0,18 16,06 144,00
 10 0.62.D00433.08,4 Washer DIN 433 - 8.4  0,18 16,06 144,00
 10 0.62.D2520108 Self locking washers, M8  0,63 56,67 510,00
 10 0.63.0916.10012.1 Set screw M10×12, with cupped gripping point, black  0,18 16,06 144,00
 14 0.63.D00931.08070 Hexagonal screw DIN 931, M8×70  0,21 19,00 187,00
 10 0.63.D06912.08020 Socket head cap screw DIN 6912, M8×20  0,18 16,06 144,00

  1.11.xx Profi les

 4 1.11.040040.43LP Profi le 40×40, 4E, light, plain 11,76 70,53 8 48 10,81 519,00
 4 1.11.040080.64LP Profi le 40×80, 6E, light, plain 22,27 133,60 4 24 20,50 492,00
 4 1.11.040040.43SP Profi le 40×40, 4E, heavy, plain 17,96 107,78 8 48 16,52 793,00
 4 1.11.040080.64SP Profi le 40×80, 6E, heavy, plain 35,26 211,58 4 24 32,46 779,00
 5 1.11.045045.43LP Profi le 45×45, 4E, light, plain 13,33 79,97 8 48 12,27 589,00
 5 1.11.045090.64LP Profi le 45×90, 6E, light, plain 27,88 167,29 4 24 25,67 616,00
 5 1.11.045045.43SP Profi le 45×45, 4E, heavy, plain 19,01 114,08 8 48 17,52 841,00
 5 1.11.045090.64SP Profi le 45×90, 6E, heavy, plain 37,57 225,43 4 24 34,58 830,00

Page Product No. Description bar 6 m Packing Unit (PU)
    €/m €/bar bars/PU m/PU €/m  €/PU

 ä.ää.ääääää.ääää.60 = 1 bar   / .61 = 1 PU

 1.45.xx Accessories

 6 1.45.11100 Fixed castor with bolt hole, Ø100 13,43  
 6 1.45.11100E Fixed castor with bolt hole, Ø100, ESD 16,11  
 6 1.45.11125 Fixed castor with bolt hole, Ø125 15,25  
 6 1.45.12100 Fixed castor with fi tting plate, Ø100 16,54  
 6 1.45.12100E Fixed castor with fi tting plate, Ø100, ESD 19,70  
 6 1.45.12125 Fixed castor with fi tting plate, Ø125 18,71  

 7 1.45.21100 Swivel castor with bolt hole, Ø100 18,93  
 7 1.45.21100E Swivel castor with bolt hole, Ø100, ESD 21,68  
 7 1.45.21125 Swivel castor with bolt hole, Ø125 19,85  
 7 1.45.22100 Swivel castor with fi tting plate, Ø100 20,40  
 7 1.45.22100E Swivel castor with fi tting plate, Ø100, ESD 23,15  
 7 1.45.22125 Swivel castor with fi tting plate, Ø125 21,67  

 7 1.45.31100 Swivel castor stop fi x with bolt hole fi tting, Ø100 28,71  
 7 1.45.31100E Swivel castor stop fi x with bolt hole fi tting, Ø100, ESD 31,31  
 7 1.45.31125 Swivel castor stop fi x with bolt hole fi tting, Ø125 30,16  
 7 1.45.32100 Swivel castor stop fi x with fi tting plate, Ø100 30,36  
 7 1.45.32100E Swivel castor stop fi x with fi tting plate, Ø100, ESD 33,87  
 7 1.45.32125 Swivel castor stop fi x with fi tting plate, Ø125 32,47  



19

1 October 2018Price List  - EUR

Page Product No. Description  PU 1  PU 2 PU 3

  Piece 1 10 100 1.000
   €/Piece €/PU  €/PU  €/PU

Page Product No. Description  PU 1 PU 2

  Piece 1 10 100
   €/Piece €/PU  €/PU

 21.11.xx Pipes

 2 21.11.110.20.01.40 Steel pipe Ø28, 2.0, black 17,40 165,30 1.570,00
 2 21.11.110.20.02.40 Steel pipe Ø28, 2.0, white 17,40 165,30 1.570,00
 2 21.11.110.20.03.40 Steel pipe Ø28, 2.0, ivory 17,40 165,30 1.570,00
 2 21.11.110.20.04.40 Steel pipe Ø28, 2.0, dark grey 17,40 165,30 1.570,00
 2 21.11.110.20.05.40 Steel pipe Ø28, 2.0, light grey 17,40 165,30 1.570,00
 2 21.11.110.20.06.40 Steel pipe Ø28, 2.0, dark blue 17,40 165,30 1.570,00
 2 21.11.110.20.07.40 Steel pipe Ø28, 2.0, light blue 17,40 165,30 1.570,00
 2 21.11.110.20.08.40 Steel pipe Ø28, 2.0, green 17,40 165,30 1.570,00
 2 21.11.110.20.09.40 Steel pipe Ø28, 2.0, red 17,40 165,30 1.570,00
 2 21.11.110.20.10.40 Steel pipe Ø28, 2.0, yellow 17,40 165,30 1.570,00

 30.1.xx Steel pipe square

 3 30.1.04504502.01.60 Steel pipe square 45×45×2, black 68,85 61,97 55,08

  ää.ää.äää.ää.ää.40 = 1 pipe, .41 = PU 1 with 10 pipes, .42 = PU 2 with 100 pipes

 without additional indication = 1 piece / .P1 = PU 1 with 10 pieces / .P2 = PU 2 with 100 pieces / .P3 = PU 3 with 1.000 pieces

 without additional indication = 1 piece / .P1 = PU 1 with 10 pieces / .P2 = PU 2 with 100 pieces / .P3 = PU 3 with 1.000 pieces

 21.15.xx Accessories   

 10 21.15.20.L Footplate, corner left 24,75  2.227,50 19.800,00
 12 21.15.20.MH Footplate, center 21,50  1.935,00 17.200,00
 13 21.15.20.MHV Footplate, center with post 25,20  2.268,00 20.160,00
 11 21.15.20.R Footplate, corner right 24,75  2.227,50 19.800,00

 30.15.xx Accessories   

 8 30.15.10.160 Fixed castor with fi tting plate, Ø160 33,38   
 8 30.15.11.160 Swivel castor with fi tting plate, Ø160 42,35   
 9 30.15.12.160 Swivel castor, lockable w. fi tting plate, Ø160 54,68   
 14 30.15.20 Footplate for square 45, corner 22,90  2.176,00 20.610,00
 15 30.15.30 Corner protector 21,00  1.995,00 18.900,00
 10 30.15.S1 Mounting set for castors 1,16  105,27 942,00
 14 30.15.S2 Mounting set for footplate with 45 mm square 0,75  67,60 619,00
       
 16 30.16.10.40 Drawbar 40, with fi xed eyelet 200,00   
 16 30.16.10.45 Drawbar 45, with fi xed eyelet 200,00   
 16 30.16.11.40 Drawbar 40, with swivel eyelet 230,00   
 16 30.16.11.45 Drawbar 45, with swivel eyelet 230,00   
 16 30.16.21.40 Coupling 40 180,00   
 16 30.16.21.45 Coupling 45 180,00   

Page Product No. Description  PU 1  PU 2 PU 3

  Piece 1 10 100 1.000
   €/Piece €/PU  €/PU  €/PU

Page Product No. Description Piece 1 10 100

    €/Piece €/Piece €/Piece



20

Imprint

Subject to technical modifi cation.
All rights reserved.
Copying - also in parts - only allowed
by written consent.
© MayTec Aluminium Systemtechnik GmbH,
D - 85221 Dachau, 2018



MayTec GmbH plant in Olching

Stock of aluminium profi les

Small parts storage



Australien Deutschland USA

MayTec Aluminium
Systemtechnik GmbH
Kopernikusstraße 20
D - 85221 Dachau

Landesvorwahl: +49
Telefon: (0) 8131 / 33 36 - 0
Telefax: (0) 8131 / 33 36 - 119
e-mail: mail@maytec.de
http://www.maytec.de

Neue Adresse ab 2019

MayTec Aluminium
Systemtechnik GmbH
Gewerbering 16
D - 82140 Olching

MayTec Inc.

901 Wesemann Drive
West Dundee, IL 60118

Landesvorwahl: +1
Telefon: 847 - 429 - 0321
Telefax: 847 - 429 - 0460
e-mail: mail@maytecinc.com
http://www.maytecinc.com

MayTec Australia P/L

Unit 8, 175 James Ruse Drive
Rosehill, NSW 2142

Landesvorwahl: +61
Telefon: (0) 2 / 9898 9929
Telefax: (0) 2 / 9638 4086
e-mail: info@maytec.com.au
http://www.maytec.com.au

MayTec Vertriebspartner

KD
E6

30
.0

0.
00

0.
1E

U1
18

_V
02

universell

  wirtschaftlich

   funktionell

Der Schlüssel ...
zum Erfolg




